N & o & AF & H Al A
20148 S0l& LB H SAIAS
SN ZAASD
M YPHESGAB2EH
el S AIZ2E I (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SAAS0 5,037,359 5,365,221 A 327,862
= 142,800
< 310,160
s 4,584,399
WESEANS2HEHE 4,276,150 4,597,346 A 321,196
= 200,000
s 4,076,150
S AIZ 2 EH 4,276,150 4,597,346 A 321,196
< 200,000
[ia 4,076,150
= 2l A E =8 251,800 527,680 A 275,880
401 AIEHI L 20 251,800 357,680 A 105,880
01 A& Hl 250,000 355,680 A 105,680
0 SASR BEEY 250,000
03 Al S THHI 1,800 2,000 A 200
0 EANSE & A2l 1,800
S AIHE HLSHALY 44,470 0 44,470
401 AIEHI L 2 CHYI 44,470 0 44,470
01 A& HI 44,000 0 44,000
OStSZZAIHEZEZHMA(WPIS) RS ALY 22,000
0 EXHEEZHAH(KLIS)HHIAY 22,000
03 A& =TI 470 0 470
0 Matstol & AIE =Rl 470
SAAHE2EXE 43,776 44,862 A 1,086
101 @124l 12,216 13,302 A 1,086
04 JIZHHZ2Z2XNSE =+ 12,216 13,302 A 1,086
0 EXIOISAHEER &5 12,216
° Jl23 41,690 * 198 * 247 10,298
o FRYE 41,6003 = 18 » 36 1,501
o AXREFLE 41,690F » 1% » 102 417
201 et 18,000 18,000 0
01 At 22l 18,000 18,000 0
0 &8Et=2H| 6,000
o MMARE P MREZFY 6,000
OMEFRSEE 15,000& » 65 » 128 1,080
0 28+¢ 10,920
o StsZAEAYSF AL = (123]) 10,920
202 4l 10,560 10,560 0
01 = LH YI 10,560 10,560 0
0 2tLH o Hi 170,000& * 49 » 128 8,160




EM: TAASD
M YPHESGAB2EH
chelr AR EY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 22 ™ di 50,0003 = 4% » 123 2,400
203 YR =& 3,000 3,000 0
03 Al Z=A Y 2= 3,000 3,000 0
0 Z2clAHE =8 3,000
St AHEEZ L 2,108,200 1,334,800 773,400
401 Al HI K 201 I 2,108,200 1,334,800 773,400
01 A& HI 2,100,000 1,330,000 770,000
0 S=METZ JH&E(L=120m) 200,000
0 IUFHAL T2 (LE2-36) (L=200m) 600,000
0 FHZAHEZZ(L22-31) (L=96m) 70,000
0 SZSME T Z(L=140m) 200,000
0 ES-NS(SMHPALLE)MET 2 (L=112m) 400,000
0 NSESTAHEZZ(A22-37)(L=100m) 310,000
0 Mol 23| & & 2 (L=50m) 300,000
O MNECAMHAEETZ(L2Z21-6)(L=215m) 20,000
03 Al S HHI 8,200 4,800 3,400
0 SAAHEEZZ AL 8,200
JUEAAHEEZHA 603,700 1,103,900 A 500,200
401 Al HI X 2018 603,700 1,103,900 500,200
01 A& Hl 600,000 1,100,000 A 500,000
0 MRNEAHEEZ(L22-17)(L=259m) 300,000
0 S0ZANHEEZZ(LZ1-3)(L=127m) 300,000
03 Al 2 THHI 3,700 3,900 A 200
0 SANHEZZ ANIER2UYI 3,700
SAHEEZ 72 190,000 40,000 150,000
401 Al HIZ 201 I 190,000 40,000 150,000
01 A& HI 190,000 40,000 150,000
0 2 ECESHFHIZAH(A=3500m" &ts,& 1) 40,000
0 S2MWEZE L E(50A ots, 8 w) 50,000
0 Xt & A |=5Km 50,000
0 N2 &3 ¥ B4 (200H4) 50,000
FII0ESEANE & DI=EXNEY 150,000 100,000 50,000
401 AIEHI L 20HEI 150,000 100,000 50,000
01 A& Hl 150,000 100,000 50,000
0 ZJI0IEHAIE L 0ISEN BAZ(102X) 150,000
SAHEANE(BEHES)2 46,371 76,602 A 30,231
101 @14 dl 36,371 26,602 9,769
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JI2ZtHZ22HEE =+ 36,371 26,602 9,769
0 BEAg=s 2e2/(2%) 36,371
o JIE=s 41,6903 = 2% = 365¢ 30,434
o FRdYE 41,6903 * 2% » 52 4,336
o AXRESFL=E 41,6903 » 2% » 12€ 1,001
o I=l 300,000& * 29 600
401 AIEHI L 2 CHYI 10,000 50,000 A 40,000
01 A& HI 10,000 50,000 A 40,000
0 EE2E=s RAUE+ 10,000
SANY SN 46,020 46,020 0
201 Let249] 38,100 38,100 0
01 AtR 22l 7,100 7,100 0
0 Y=gl 7,100
o ARESHI 3,100
o HMMABRZAYH 4,000
02 =224l 31,000 31,000 0
03323 % HA 15,000
0 A& &Hl Al 16,000
202 O4dl 7,920 7,920 0
01 = LH 4 1l 7,920 7,920 0
0 = LHA HI 7,920
o Z2l¢ bl 50,000& = 3H * 128 1,800
o ZLHAbI 170,000& * 39 » 123 6,120
S 32 195,223 229,902 A 34,679
101 @124 Hl 53,223 39,902 13,321
04 12t Z2XEES 53,223 39,902 13,321
0 Sz &el(3Y) 41,007
o JIEa 46,6503 * 3Y x 247 34,568
o FRUY 46,650 * 3H * 36Y 5,039
o AXNRESFL+E 46,6503 » 3% x 10 1,400
0 sgSatEa 22 (1) 12,216
o JEg 41,6903 * 198 = 247 10,298
o TR 41,690& * 1H = 36 1,501
o AXNRESFL=E 41,6903 » 1E = 102 417
201 2Bt | 2,000 0 2,000
01 At 22/l 2,000 0 2,000
0 & A28 PLU(EX, HISFS) 2,000
401 A& H L 20l 140,000 190,000 A50,000
01 A& HI 140,000 190,000 A 50,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 5838 & =BHIIAANEE RA22H 80,000
0 SEIBY HYANE(2SII7 8) LA 30,000
0 2= M2 U RN ZES (Y S) 30,000
A S IHE AL 400,000 600,000 A200,000
< 200,000
s 200,000
401 AIEHI L 2 CHYI 400,000 600,000 A200,000
< 200,000
e 200,000
01 A& HI 395,680 600,000 A 204,320
0 F2ZANHEZZ FHHI S AHL=150m) 395,680
< 200,000
s 195,680
03 AlE 2 THHI 4,320 0 4,320
0 AlE 204 4,320
ClXtel 2 X2 23,640 438,080 A 414,440
201 L2l 17,360 30,720 A 13,360
01 At 22l 8l 17,360 30,720 A 13,360
0 ger2 3l 11,600
o AR 2l 9,600
o SEUW OFE FolLME M
200,000& * 107H 2,000
0 28+< 5,760
o Z&AAS 22 70,000& = 8H « 63l 3,360
o ZZANE2S UK /33 29
200,000& = 6H « 23| 2,400
202 O4dl 5,280 5,280 0
01 = LH 4 1 5,280 5,280 0
0 2tLH o Hi 170,000& * 29 » 123 4,080
0 22 ™o di 50,000& = 2% = 123 1,200
203 YR =&l 1,000 1,000 0
03 AIHF=XH R =AH| 1,000 1,000 0
0 SSUXNUME BSHMAH =& 1,000
Za 2 CXel 22 165,450 0 165,450
201 Let24E] 2,000 0 2,000
02 =224l 2,000 0 2,000
0 A DS (B UNAIUL, SE2HE) A2
2l 100,000& * 2074 2,000
401 Al HIZ 201 Y| 163,450 0 163,450
01 A& HI 162,200 0 162,200
0 A&t 162,200
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SN BA(SA) - MRAY - BES 0l &t o e 2
o 202 FUANY(SAZIE, HNAH B
Hl) 50,000
o XY E N2l =&AL (L=2km) 112,200
03 Al 2 0HHI 1,250 0 1,250
0 Al SR 0HYI 1,250
o HXNHESHE ZHAME AIE=R0HI 800
o OISC=2 2&Hel ZdMY AERU 450
QIZtEZ O Al ALY 7,500 0 7,500
301 gt L= 7,500 0 7,500
1MIIEBESS 7,500 0 7,500
0 UAHBIHXNLSZHEIXA AEAL 5,000
0 UM BIOHEOIEAZINNE AEAY 2,500
HE =13 =4 683,820 688, 700 A 4,880
= 142,800
< 110,160
s 430,860
FHEE L FX 616,330 617,970 A 1,640
= 142,800
< 110,160
[ia 363,370
A=Y 2SN 26,330 27,170 A 840
201 et 18,410 19,250 A B840
01 At 22l 18,410 18,410 0
0 Yt 10,110
o HMARE, ASBE S 7,000
o RpFY BUNE S 3,110
0 2gsg 8,300
o AEFAF|, B2/ S BALY 8,300
202 (4 Hl 7,920 7,920 0
01 = LH 4 HI 7,920 7,920 0
0 2tLH o Hi 170,000& * 39 » 128 6,120
0 220l 50,0008 = 3 * 12& 1,800
SIESIPSH]l 46,000 27,500 18,500
< 13,800
s 32,200
402 RIZ2FXt20l ™ 46,000 27,500 18,500
< 13,800
[ 32,200
01 RIZEAI 22X 46,000 27,500 18,500
0 BIEAHIAIS(SAOIE 408)
500,000& * 40 20,000
< 6,000
s 14,000
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MY S0{E FHEE X4
@ F=HEF e (9 ® =)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 B AEHIAIS (LBt 265)
1,000,000& * 26& 26,000
< 7,800
e 18,200
OSU2AZS IR IIALY 30,000 64,500 A 34,500
402 RI2EX=201 M 30,000 60,000 230,000
01 RIZERI2E X 30,000 60,000 A 30,000
0 =S XA (35) 30,000
Sd0IE NEMNE ALY 260,000 250,000 10,000
< 78,000
i 182,000
402 RIZ2EXt20l ™ 260,000 250,000 10,000
< 78,000
[ 182,000
01 RIZEAI2 EX 260,000 250,000 10,000
0 =2 S20E NSHE(52E)
5,000,000& = 52= 260,000
< 78,000
[ia 182,000
=diOIE ™2l XJAAZ 204,000 178,000 26,000
= 142,800
= 18,360
[ 42,840
403 MtXISHHE X201 & 204,000 178,000 26,000
= 142,800
< 18,360
i 42,840
02 S| 2SO CHEHCHE AL Bl 204,000 178,000 26,000
0 ZCdI0IE HMel KNAAH(855) 204,000
o FEHINE(455) 2,400,000& * 453 108,000
= 75,600
< 9,720
[ 22,680
o BIFAH|(408) 2,400,000& * 40= 96,000
= 67,200
< 8,640
s 20,160
SSTE ANEME XF ALY 50,000 0 50,000
402 RIZEXtE0| A 50,000 0 50,000
01 2I2tX2E X 50,000 0 50,000
0 ST A X3 ALY 50,000
AEQUAHH =X 67,490 70,730 A3,240
A=S0UA2EXNEA 67,490 70,730 A 3,240
201 £B-2%| 51,290 51,290 0




- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AP 22| d| 51,290 51,290 0
0 2bBt==H| 21,290
o ANREE F¢ 6,500
o AXVAHY B0 Y 2E HMA 3,000
o MMAZE 2 10,000
o AZDIY 2P ZLL2
298,2008 » 64 1,790
0 ASBABEEIA 20D (442
150,000 = 200 30,000
202 04| 16,200 19,440 N 3,240
01 2L I 16,200 19,440 N 3,240
0 2LH O HI 170,000 = 5% x 12&€ 10,200
0 2204 d| 100,000& = 5Y = 12& 6,000
2HY =X 45,686 46,772 AN 1,086
ot= MHlA 28 45,686 46,772 AN 1,086
grola 2tel 16,216 17,302 A 1,086
101 e1214| 12,216 13,302 A 1,086
04 JI2tHIZ22NEES 12,216 13,302 A 1,086
0 CIGIJF 81’ AE 22 (1Y) 12,216
o Jl23 41,690 * 19 » 247 10,298
o TG 41,690& * 1Y x 36 1,501
o EXRESsELEE 41,6908 ~ 18 + 10Y 417
203 € R F&d| 1,000 1,000 0
03 AIEH =& H 2 F X Y| 1,000 1,000 0
0 =80 Y=z 1,000
802 Bt&t 2 DI E} 3,000 3,000 0
03 =S 3,000 3,000 0
0 CHAIAHS XX AMHH| BHaH (AP ZEDIRE)
300,000& * 10¥H 3,000
ol AN 29,470 29,470 0
201 et 9| 16,270 16,270 0
01 AP 2t 2] d| 16,270 16,270 0
0 2bet==H| 16,270
202 o4 | 13,200 13,200 0
01 2Ll 13,200 13,200 0
0 2tLH 4 HI 170,000& * 5 x 128 10,200
0 22|04 d| 50,000& = 5Y x 12& 3,000
HESHAAH (ZTAAEY) 31,703 32,403 AT700
AHI(ZAIA=ED) 31,703 32,403 AT700
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